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LESSON 51

Expressing Parallel Ideas Grammatically

Express parallel ideas in the same grammatical form.
In parallel constructions pair a noun with a noun, a verb with a verb, an infinitive with an infinitive (to go, to see, and so on), a participle with a participle, a phrase with a phrase, and a clause with a clause.

Study the following sentences in which the parallel, or "paired," elements are in BOLD.

1.
Allan decided that he would rather be a teacher than a doctor. (nouns)

2.
Teachers must know their subject matter thoroughly, present it interestingly, and answer questions willingly. (verbs and adverbs)

3.
Counseling will help you to understand the problem better and to solve it more quickly. (infinitives)

4.
Candidates for a scholarship may qualify either by taking an examination or by passing specified courses. (gerund phrases)

5.
Trains running ahead of schedule are as great a hazard as trains running behind schedule. (participial phrases)

6.
1 believed not only that you would do a good job but that you would enjoy the work. (noun clauses)

Study the following sentences, noting how the lack of parallelism in the first sentence in each group has been corrected in the second sentence.

NOT PARALLEL
I like receiving letters much better than to write them. (gerund paired with infinitive)

PARALLEL
I like receiving letters much better than writing them. (gerund paired with gerund)

NOT PARALLEL
Most of my friends are good students as well as athletic. (noun paired with adjective)

PARALLEL
Most of my friends are good students as well as athletes . (noun paired with noun)

NOT PARALLEL
Mr. Thorpe mistakenly thinks all students are apathetic, indolent, and they behave badly. (clause paired with adjectives)

PARALLEL
Mr. Thorpe mistakenly thinks all students are apathetic, indolent, and badly behaved. (adjective paired with adjective)

EXERCISE Below each of the sentences are two expressions. One of these, if used in the blank space in the sentence, would be parallel in form with another element in the sentence.  Write the letter (a or b) of this expression at the right. (Add 10 points for each correct answer.)

A. The Mayor must decide whether to use the new tax money for better schools or _________

	a. she should improve the recreation facilities 
	b. for improved recreation facilities
	 __B_


1. Tsetse flies are notorious as carriers of the disease nagana in cattle and __________

	a. they cause sleeping sickness in humans
	b. of sleeping sickness in

humans
	1 ____


1. Tsetse is a name of Bantu origin or _________

	a. of Hausa origin
	b. a Hausa word 
	2 ____




1. Tsetse flies feed by piercing the skin with their mouth-parts and -._____________

	a. they suck the blood of animals and humans
	b. by sucking the blood of animals and humans
	3.____




1. A female tsetse fly lives for about six months and

	a. giving birth to no more than twelve larvae
	b. gives birth to no more than twelve larvae
	4 ____


1. Sleeping sickness is a terrible disease which runs a slow course and -____________.

	a. ending in coma and death
	b. ends in coma and death
	5 ____


1. Some sleeping sickness can be controlled if riverside vegetation is cut down and -.________

	a. if flies are trapped in paths and clearings
	b. by trapping flies in paths and clearings
	6 ____




1. The flies are attracted by dark colors and -._________

	a. repelled by light clothing
	b. white clothing is found to repel them
	7 ____




1. Fly screens are useful not only on buildings but also___________

	a. when you are on a vehicle
	b. on vehicles
	 8____


1. The disease that attacks cattle is far more difficult to control than the disease -.____________

	a. that attacks humans
	b. attacking humans
	9 ____


1. The tsetse fly has retarded the penetration of the African jungle and -._________________

	a. converting of the land to agriculture
	b. the conversion of the land to agriculture
	10____




LESSON 52

Expressing Parallel Ideas in Parallel Form

In parallel constructions repeat an article, a preposition, or a pronoun whenever necessary to make the meaning clear.
Study the following pairs of sentences.  Note that the meaning of the second sentence in each pair is different from that of the first.  This difference in meaning is due to the inclusion of a word which was omitted from the first sentence.

1.
The owner and manager (one person) agreed to buy a full-page ad.


The owner and the manager (two persons) agreed to buy a fufl-page ad.

2.
George gave more time and help to his brother than Jill (did).


George gave more time and help to his brother than to Jill.

3.
The mayor declared that the old buildings must be razed, that their occupants

must move, and she could not be persuaded to change her mind.


The mayor declared that the old buildings must be razed, that their occupants



must move, and that she could not be persuaded to change her mind.

Place correlative conjunctions immediately before the parallel items.
The common correlative conjunctions are both ... and, not only ... but (also), neither ... nor, either ... or.  Always used in pairs, these conjunctions introduce parallel items.

Each part of these two-part conjunctions should be placed immediately before the item it introduces.

NONSTANDARD To escape detection she both changed her name and her address.

In this sentence "both changed" does not make sense; there is no item parallel with "changed." What the writer meant to say is "changed both her name and her address." Now the correlative conjunctions immediately precede respectively the parallel items her name and her address.
NONSTANDARD
Mrs. Austen not only supported the National Organization for Women but also her local women's political caucus.

STANDARD
Mrs. Austen supported not only the National Organization for Women but also her local women’s political caucus.

NONSTANDARD
Christopher will probably, either ask Phyllis or me to go.

STANDARD
Christopher will probably ask either Phyllis or me to go.

NONSTANDARD
I neither approved of his friends nor his family.

STANDARD
I approved of neither his friends nor his family.

Include in the second part of a parallel construction all words necessary to make the construction complete.
NONSTANDARD Pulling crab grass is a harder job than clover.

The fault in this sentence is that pulling is compared to clover.  To make the sentence clear, you must add pulling to the second of the parallel terms: Pulling crab grass is a harder job than pulling clover.

NONSTANDARD
Bread made with sugar is seldom as good as honey.

STANDARD
Bread made with sugar is seldom as good as that made with honey.

NAME __________________________________ 

EXERCISE: This exercise contains eight sentences in which the parallelism is faulty and two sentences in which it is correct.  Revise the incorrect sentences by crossing out words and inserting words wherever necessary.  Place a circle around the number of each correct sentence. (Add 10 points for each correctly marked sentence.)

A.
Cleo prefers golf to tennis.

B.
He not only brought home a deer but, also a brace of pheasants.

C.
She believed that her story was better written than the other pupils.

1.
Knowledge gained from experience is just as important as what the books teach.

2.
The company you keep can either make you a good person or your downfall can be brought about by it.

3.
We learn best the subjects which interest us and skim over those which do not.

4.
Hunting in Canada is different from anywhere else.

5.
It's more interesting to me to read adventure stories than working difficult math problems.

6. The people of the Philippines had no more desire to be ruled by the United States than the Spanish.

7.
Her parents not only sent her away from home but also refused to give her any money.

8. 
The four diplomats could neither agree on the time nor the place of their next meeting.

9. 
I said that if I could have my way, I would neither see him nor his sister again.

10.
Her stories are characterized by simple vocabulary, rapid action, and she uses a vast amount of dialogue.
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